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CC Algebra

Graphing Systems of Equations – Real World Problems

Do Now 
A cab company charges a $4 boarding rate in addition to its meter which is $3 for every mile 
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A) Write an equation to represent the 
	company's rate 





B) Graph the equation
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Mia has a home-based business making and selling scented soaps. She initially spent $100 to
purchase soap-making equipment, and the materials for each pound of soap cost $8. Mia
sells the soap for $12 per pound. Eventually, she will sell enough soap to cover the cost of
the equipment. What will be Mia's total sales and costs be?
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A couple of friends decide to race each other. Josie can run 5 meters per second, whereas
Bonnie can run 6 meters per second. Because she is slower, Josie also gets a head start of 50

meters. Shortly after they start running, Bonnie will catch up to Josie. How far will Bonnie
have to run?
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Miss Sherman is getting married soon. She would like to hire a professional who will come to
her house and do hair and makeup for the bridal party on her wedding day. She has
narrowed it down to two possible choices. A woman from Washington Salon charges an initial
fee of $60 and then an additional $10 per hour. Alternatively, a team from Beauty by Russell
offers a free consultation and then charges a higher hourly rate of $30. If it takes a certain
amount of time to finish everyone's hair and makeup, Miss Sherman will end up paying the
same amount either way. How long would that take?
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A charity is considering the possibility of having a benefit night at two different restaurants.
The owner of the local Italian restaurant has offered to make a donation of $100 and $3 per
diner that night. On the other hand, the owner of the Mexican restaurant has said he could
contribute $50 plus $4 per diner. Based on the number of diners who have promised to
participate in the event, it appears that each restaurant would donate the same total amount.
How much would each restaurant donate?
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A new hospital in Lancaster starts out with 10 junior residents and 5 senior residents on its
staff. Management plans to hire additional personnel at a rate of 2 junior residents per month

and 3 senior residents per month. Eventually, there will be an equal number of each on the
hospital staff. How long will that take?




